Forgotten Era Overall
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Simon Wilson: 40 Tie brk: {3,5,5,1,0,2,0,0}

40 63 13 5 6 4 5 6 5 6 6 6 2 5 2
Alan Chapman; 36 Tie brk: {4,6,0,0,0,0,0,0}

36 36 6 6 6 6 6 6
Kevin Dewell and Sara Dewell: 30 Tie brk: {4,0,3,3,1,0,1,0}
30 31 8 1 5 4 5 4 5 3 4
Steve Atkins: 29 Tie brk: {1,0,2,4,2,4,0,0}
29 40 12 2 4 2 4 4 3 3 5 4 5 2
Dick Sinkins: 25 Tie brk: {1,2,0,1,3,0,0,0}
25 25 6 4 3 6 6 3
Nigel Wheatley: 21 Tie brk: {0,1,0,1,3,0,2,0}
21 21 7 1 3 3 3 4 6
Colin Dodge- 12 Tie brk: {0,0,1,1,1,0,0,0}
12 12 3 5 4 3

Peter BI’OWﬂeZ 10 Tie brk: {0,0,2,0,0,0,0,0}

10 10 2 5 5

Mick Lovelock: 10 Tie brk: {0,0,1,0,1,1,0,0}
10 10 3 5 3 2

Neil Tamlin: 7 Tie brk: {0,0,0,1,1,0,0,0}
7T 7 2 3

Nigel Glover: 5 Tie brk: {0,0,0,0,1,1,0,0}
5 &5 2 2 3

Andy Reyner: 4 Tie brk: {0,0,0,1,0,0,0,0}
4 4 1 4

Tie brk: {0,0,0,0,0,1,1,0}

Adam Bentley: 3

3 3 2 2 1

Douglas Woof: 2 Tie brk: {0,0,0,0,0,1,0,0}
2 2 1 2

Keith Ruddock: 2 Tie brk: {0,0,0,0,0,0,2,0}
2 2 2 1 1

Alan Cavey and Leila Williams: 2 Tie brk: {0,0,0,0,0,1,0,0}
2 2 1 2

Mark Foster and James Foster: 2 Tie bric 10.0.0.0.0.1.0.0}
2 2 1 2

Gordon LeFeuvre: 1 Tie brk: {0,0,0,0,0,0,1,0}
1 1 1 1

Keith Hunt: 1 Tie brk: {0,0,0,0,0,0,1,0}

1 1 1 1
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